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(—) Type A choice questions (only one answer is correct)

1. A drug with t;» 3 hours is given intravenously, the steady state of plasma concentration
can be expected within
A. 3 hrs
B. 8 hrs
C. 10 hrs
D. 15 hrs
E. 20 hrs
2. Which of the following statements is correct?
weak bases are absorbed efficiently across the epithelial cells of the stomach
coadministration of atropine speeds the absorption of a second drug
drugs showing large Vd can be efficiently removed by dialysis of the plasma.
stressful emotions can lead to a slowing of drug absorption.
if the Vd for a drug is small, most of the drug is in the extraplasmic space.
3. pDz 1S
A. therapeutic index
B. antagonist
C. affinity index
D. dissociation constant
E. elimination rate constant
4. All of the following statements are true except
A. aspirin(pKa 3.5) is 90% in its lipid-soluble, protonated form at pH 2.5
B. the basic drug promethazine (pKa=9.1) is more ionized at pH=7.4 than at pH 2
C. absorption of a weakly basic drug is likely to occur faster from the intestine than
from the stomach
D. acidification of the urine accelerates the secretion of a weak base, pKa = 8
E. uncharged molecules more readily cross cell membranes than charged molecules
5. Which of the following statements is correct
A. if 10mg of drug A produces the same response as 100mg of drug B, drug A is
more efficacious than drug B
the greater the efficacy, the greater the potency of a drug
in selecting a drug, potency is usually more important than efficacy
a competitive antagonist increases EDsg
variation in response to a drug among different individuals is most likely to occur
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with a drug showing a large therapeutic index
6. Among the following drugs, which will be excreted most quickly in acidic urine?
A. a weak acid drug with pKa of 5.5
B. a weak base drug with pKa of 7.5
C .a weak base drug with pKa of 4.5
D. a weak acid drug with pKa of 3.5
E. a weak base drug with pKa of 6.5
7. Which is NOT the indication of phentolamine?
A. shock
B. diagnosis of pheochromocytoma
C. male sexual dysfunction
D. primary hypertension
E. peripheral vascular occlusive disorders
8. The intoxication of tubocurarine can be antagonized by
A. atropine
B. adrenaline
C. neostigmine
D. dopamine
E. ephedrine
9. Which of the following adrenomimetic agents is able to dilate renal vessel and increase
renal blood flow?
A. metaraminol
B. epinephrine
C. dopamine
D. a-methyldopa
E. ephedrine
10. Atropine has the following effects except
A. mydriasis
B. spasm of accommodation
C. increasing intraocular pressure
D. decrease salivary secretion
E. stimulating CNS in larger dose
11. Which is correct description about the f-adrenoceptor effect?
both vascular dilation and bronchial dilation belong to 3, effect
both cardiac excitation and bronchial dilation belong to 3, effect
both cardiac excitation and vascular dilation belong to f3; effect
both cardiac excitation and vascular dilation belong to f3, effect
both cardiac excitation and bronchial dilation belong to B; effect
12. Release of Ach is promoted by
A.Na"
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B. Ca®’
C. K'
D.Na" and K"
E.Ca* and K
13. Pilocarpine is
A. aM-receptor agonist
B. a M-receptor antagonist
C. a N-receptor agonist
D. a N-receptor antagonist
E. anantihypertensive agent
14. The patients with bronchial asthma can’t be given
A. adrenaline
B. ephedrine
C. isoprenaline
D. propranolol
E. ipratropine
15. Antiparkisonism agents do NOT include
A. Amantadine
B. chlorpromazine
C. Levodopa
D. artane
E. selegiline
16. To relieve anxiety symptoms, we usually use

A. Phenobarbital
B. perphenazine

C. chlorpromazine
D. imipramine

E. benzodiazepines

17. When phenobarbital poisoning, in order to reducing toxicity and promoting toxic
substance excretion, we should
A. apply acidic drug to decrease the pH of plasma and urine
B. apply basic drug, to increase the pH of plasma and urine
C. infuse intravenously dextran 40
D. administer normal saline solution
E. administer 10% glucose intravenously

18. Which of the following statements about the mechanism of aspirin’s antipyretic effect

is true?

A. Inhibition of PG synthesis of temperature regulating center

B. Inhibition of DA synthesis of temperature regulating center

C. Promoting of PG synthesis of the temperature-regulating center



D. Promoting of DA synthesis of the temperature-regulating center
E. Direct dilation of blood vessel, increment of hot spread
19.The aim of adding adrenaline into the local anesthetics is to
A. contract the blood vessel and decrease the absorption of the local anesthetics
B. prevent the allergic reaction
C. prolong the time of action of the local anesthetics
D. A+C
E. eliminate fear and nervousness of the patient
20. Gastric ulceration by long-term use of aspirin is due to
A. direct irritation of gastric mucosa
B. inhibition of PG synthesis
C. increase of gastric acid release
D. increase of pepsin release
E.Aand B
21. Which is the drug of choice in the treatment of absence seizure?
A. phenytoin sodium
B. carbamazepine
C. amobarbital
D. ethosuximide
E. glutethimide
22. The drug of choice to treat trigeninal neuralgia is
A. phenobarbital
B. diazepam
C. chlorpromazine
D. ethosuximide
E. carbamazepine
23. The mechanism of anti-hypertensive effect of losartan is:
A. decrement of renin activity
B. inhibition of angiotensin converting enzyme
C. blockade of the angiotensin II type 1 receptor
D. increment of kinin synthesis
E. causing vasodilation directly
24. Which of the following antihypertensive drugs can treat morphine addiction?
A. enalapril
B. clonidine
C. prazosin
D. metoprolol
E. methadone
25. Which of'the followings is NOT the characteristics of ACEI ?
A. it can be used in mild, moderate and severe hypertension
B. it doesn’t cause reflective quick heart rate
C. it not only improve life quality, but also decrease mortality
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D. it will not cause disorder of lipid metabolism

E. it will not affect glucose metabolism

The best drug used to treat ventricular premature beats and ventricular tachycardia is
A. propranolol

B. digitoxin

C. quinidine

D. lidocaine

E. verapamil

Which of the following antianginal drugs is harmful to patients with variant angina?
A. Verapamil

B. Nifedipine

C. Nitroglycerin

D. Propranolol

E. Aspirin

The mechanism of vasodilation of nitroglycerin is

A. vasodilating directly

B. blocking a receptor

C. producing NO

D. stimulating 3, receptor and causing vasodilation

E.stimulating adenyl cyclase to increase intracellular cAMP concentration
In which of the following drugs orthostatic hypotension occurs most frequently in
first use:

A. clonidine

B. nifedipine

C. propranolol

D. enalapril

E. prazosin

Captopril can do all of the following EXCEPT

A. inhibiting ACE

B. causing dry cough

C. inhibit the formation of angiotensin I

D. promote the excretion of potassium

E. increase bradykinin concentration in the blood

Cardiac glycoside can treat atrial fibrillation because it can

A. increase concealed conduction in SA node

B. decrease concealed conduction in SA node

C. decrease concealed conduction in AV node

D. increase concealed conduction in AV node
E. inhibit Na" channel

. All of the following measures can be used in the treatment of digoxin-induced
arrhythmias EXCEPT

A. stopping digoxin administration

B. diuretic agents such as furosemide is used to improve excretion

C. phenytoin administration



D. atropine administration
E. lidocaine administration
33. A 59-year-old female with CHF is treated with hydrochlorothiazide. What is its
primary mechanism of action?
A. inhibition of Na'/K" /2CI cotransporter.
B. inhibition of Na'/2C1" cotransporter
C. inhibition of sodium-potassium ATPase
D. inhibition of Na”/H" exchanger
E. inhibition of carbonic anhydrase
34. All of the following statement about glucocorticoids are true EXCEPT
A. inhibiting both the early and the late manifestation of inflammation
B. affecting all types of inflammatory reactions
C. inhibiting the amount of neutrophil
D. inhibiting the release of arachidonic acid
E. inhibiting granulation tissue formation
35. Vit K is a substance to prevent or reduce bleeding caused by
A. heprin
B. aspirin
C. urokinase
D. streptokinase
E. dicoumarin
36.Which of the following mechanisms best accounts for the anti-thyroid effect of
methylthiouracil ?
A. Inhibiting peroxidase and decreasing the thyroxin synthesis
B. Inhibiting the thyroid releasing
C. Inhibiting the absorption of iodine
D. Interfering with the utilization of iodine
E. Decomposing the thyroxin
37. Which of the following mechanisms best accounts for the anticoagulant effect of
heparin?
A. Binding antithromin [II and accelerating the deactivation of coagulant factors
consequently
B. Interfering with the utilization of Vit k and decreasing synthesis of coagulant
factors
C. Inhibiting the platelet aggregation
D. Inhibiting the activity of thrombase
E. Antagonizing the effect of thromba
38. Which of the following statements about insulin is NOT true?
A. Tt can cause hyperglycemic reaction
B. It can’t be administrated orally
C. Its mechanism of action is through intracellular receptor pathway



D. It can be used in IDDM and NIDDM
E. It can cause anaphylactic reaction
39. Which of the following symptoms is a withdrawal syndrome of glucocorticoids?
A. Induction and aggravation of infections
B. Rebound phenomenon
C. central obesity
D. Hypertension
E. Osteoporosis
40.The patients with bronchial asthma can not be given
A. adrenaline
B. ephedrine
C. aspirin
D. aminophylline
E. salbutamol
41. Under which of the following conditions is mannitol contraindicated?
A. Glaucoma
B. Chronic heart failure
C. Oliguria caused by shock
D. Before colonoscopy
E. Edema
42. Which is the best scheme for treatment of megaloblastic anemia
A. folic acid
B. folic acid plus ferrous sulfate
C. Vit B;;
D. folic acid plus Vit By,
E. Vit By, plus ferrous sulfate
43. Sulfonamide act synergistically with trimethoprim because
A. sulfonamides inhibit the metabolism of trimethoprim
B. trimethoprim inhibit the metabolism of sulfonamides
C. both drugs act at the same step in inhibiting folic acid synthesis
D. both drugs act at different steps in inhibiting folic acid synthesis
E. none of the above
44. A 75-year-old woman hospitalized for pneumonia and treated with an intravenous
antibiotic. On the third day, she develops severe diarrhea. Stool is positive for
Clostridium difficile toxin. What is the best treatment?
A. clindamycin
B. cefaclor
C. metronidazole
D. erythromycin
E. doxycycline
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. Metronidazole can not be used to treat patients with

A. trichomoniasis

B. amebic dysentery

C. rheumatic arthritis

D. infection caused by anaerobe

E. giardiasis

Which of the following statements about the mechanism of action of antibiotics is
most accurate?

A. aminoglycosides bind to receptors on the 50s ribosomal subunit to prevent
attachment of aminoacyl-tRNA

B. cephalosporins inhibit the synthesis of precursor of the linear peptidoglycan chain

of the cell wall

C. fluoroquinolones inhibit DNA-dependent RNA polymerase

D. the bactericidal action of penicillin is partly due to their activation of autolytic

enzymes

E. vancomycin inhibit peptidyl transferases involved in cell wall synthesis

Which of the following drug has no effect on pseudomonas aeruginosa infections?

A. carbencillin

B. imipenem

C. netilmicin

D. ciprofloxacin

E. amoxicillin

A young woman suffering from urinary tract infection caused by a G™ rod can be

treated with

A. penicillin G

B. vancomycin

C. gentamicin

D. clindamycin

E. erythromycin

49. Which of the following drugs may cause superinfection?

>

penicillin G
streptomycin
erythromycin
tetracycline

. neomycin
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50. Which of the following drugs is the drug choice in treating pneumonia caused by
Legionella?

A. tetracycline
B. azithromycin
C. gentamicin



D. cefuroxime
E. amoxycillin

(=) Type X choice questions (in a question, one or more answers may

be correct)

51.Which of the following statements is(are) NOT true
A Emax of drug is also called the potency of drug
B antagonist is the drug that interacts with receptor with high affinity and intrinsic
activity
C the allergic reaction is the side effect of drug
D some drugs have first-pass elimination after parenteral administration
E. all drug can be metabolized by hepatic microsomal enzymes
52. Factor(s) affecting distribution of a drug include(s)
A. pKa of the drug
B. pH of body fluids
C. blood brain barrier
D. affinity to certain tissues
E. binding of the drug to plasma proteins
53. The action of norepinephrine is terminated by
A. re-uptake
B. catechol-O-methyltransferase
C. monoamine oxidase
D. tyrosine hydroxylase
E. actylcholinesterase
54. Which of the following side effects would be seen on a patient treated with atropine?
A. dry mouth
B. tachycardia
C. miosis
D. gastric and urinary retention
E. flushed face
55. Epinephrine may induce
A. cardiovascular stimulation
B. bronchodilation
C. CNS stimulation
D. bradycardia
E. paralysis of accommodation
56. Which of the followings are true about adverse reactions of aspirin
A. has gastrointestinal reaction
B. induce blood coagulation disorder
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C. has on-off response
D. has ototoxicity
E. has allergic reaction
57.Phenytoin can induce
A. arrhythmia
B. antiepileptic effect
C. gingival hyperplasia
D. increase in metabolism
E. sedative effect
58. In local anesthesia the aim of adding epinephrine to solution of procaine is to
A. decrease hydrolysis of procaine
B. increase duration of blood vessel
C. elevate blood pressure
D. decrease absorption and prolong duration of action of procaine
E. increase excitation
59. Which of the following drugs belong to the first-line drugs therapy for hypertension
in current?
A. A vasodilator such as hydralazine
B. A cardiac Glycoside such as digoxin
C. A B-receptor blocker such as propranolol
D. A thiazide diuretic such as hydrochlorothiazide
E. An ACE inhibitor such as captopril
60. Calcium channel blockers can cause
A. negative inotropic effect
B. relaxation of blood vessels
C. relaxation of branchial smooth muscle
D. diuresis
E. antiatherosclerotic effects
61. The adverse reaction of cardiac glucosides include
A. anorexia, nausea, vomiting, diarrhea
B. blurred vision
C. tachycardia
D. bradycardia
E. hyperkalemia
62. Which of the following drugs is (are) useful in treatment of Ventricular tachycardia?
A. Atropine
B. Digitoxin
C. Verapamil
D. Lidocaine
E. Amiodarone
63. Which of the following diseases are the contraindictions of glucocorticoids?
A. fulminant epidemic cerebrosonial meningitis
B.psychosis
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C.diabetes mellitus
D.severe hypertension
E.chickenpox
64. Which can be used in treatment of acute myocardial infarction?
A. warfarin
B. heparin
C. tissue plasminogen activator
D. P-aminomethybenzoic acid
E. nitroglycerin
65. Which of the following statements about dicumarol is (are) true?
A. Vitamin K is its competitive antagonist
B. It can inactivate coagulant factor Il a, Vlla, [Xa, Xa
C. It is effective in vivo, not in vitro
D. Cimetidine can weaken its anticoagulant effect
E. It can inhibit the aggregation of platelet
66. Which of the following is (are) the effects of Magnesium sulfate?
A. Laxative effect
B. Cholagogic (F|fH?])) action
C. Relaxing skeletal muscles
D. inhibiting secretion of gastric acid
E. Relax vascular smooth muscle
67. The mechanism of action of penicillin is(are)
A. interfering with the synthesis of the bacteria cell wall
B. blocking cross-linking of peptideglycan
C. inhibiting the transpeptidase
D. inhibiting the B-lactamase
E. inhibit the protein synthesis
68. Which of the following drug can inhibit cell wall synthesis
A. vancomycin
B. clarithromycin
C. cefaclor
D. clavulanic acid
E. amikacin
69. A young woman with pregnancy should avoid using which of the following drugs to
treat urinary tract infection caused by gram-negative rods?
A. gentamicin
B. cefalexin
C. ofloxacin
D. amoxicillin
E. SMZ+TMP
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70. Quinolones can NOT be used to patients who
A. have epilepsy history
B. are in growth and development period
C. are taking antiacid
D. are pregnant
E. are allergic to penicillin
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=. Answer Questions (30 points)

1. Please describe the pharmacological action and clinical uses of morphine.
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2. Please describe the mechanisms of B adrenoceptor blocker in the treatment of
chronic heart failure. (8 %)
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3. Please describe the anti-inflammatory action and mechanisms of glucocorticoids.
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4. Please describe the common characteristics of aminoglycoside antibiotics.
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